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= ol QF O & 1t 770,980 1,876,558 A 1,105,578
s3HXN =4 & Ald2e 770,980 1,876,558 A 1,105,578
S3HX ZH(s3SXNAZHAILSE3SAH) 770,980 1,876,558 A 1,105,578
SEZE=s3HA JLE=2 754,725 1,858,667 A 1,103,942
401 AIEHI L 20 754,725 1,858,667 A 1,103,942
01 A& HI 750,000 1,852,000 A 1,102,000

0 s8Xds3HI U2 HESA 750,000
03 AlE SR THHI 4,725 6,667 N1,042
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201 ¢4 6,535 8,171 A 1,636
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0 2t=2H| 6,535

o sZ2HA gRFA 6,535
202 04l 9,720 9,720 0
01 = LH 4 Hi 9,720 9,720 0

0 2tLH o Hi 170,000& * 39 » 122 6,120

0 220l 100,000& = 3% » 12& 3,600
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S3S R Ald2el 18,720 18,720 0
101 @124l 6,840 6,840 0
04 D12t 22 HEE = 6,840 6,840 0
0 s=2HX EHIIS &2l =2
57,000& = 1098 » 30 = 43 6,840
201 Let2d] 6,600 6,600 0
01 At 22l 4,800 4,800 0
0 s3HX 28228 & Re= MA 4,800
02 =224l 1,800 1,800 0
03323 % HA 150,000& * 12& 1,800
202 oddl 5,280 5,280 0
01 = LH &4 1l 5,280 5,280 0
0 2LHO 170,000& » 2H » 12& 4,080
0 220l 50,000& = 2% = 123 1,200
s3AFZA A0l 13,280 2,980 10,300
801 Gl HI bl 13,280 2,980 10,300
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